Cll# HaxoxaeHue nepeMeHHoM BeIM4uHsI (+, -, X, +)

Nwms:

Haiinure 3HaueHue X.

1) 95-4x=179 2)
3) 85-15x=40 4)
5) 43+ -3x=22 6)
7 104+ -4x =176 8)
N 71+1x=175 10)
) 61 +-10x=11 12)

3x +66 =78

-1x +40 =31

_5x + 54 =44

-lx+15=12

34 -1x=24

194 +-13x = 64

OTBeThI

10.

11.

12.
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Haxoxienue nepeMeHHON BEIUYuHbI (1, -, X, +)

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Haiinure 3HaueHue X.

1)

3)

S)

7

9)

11)

95-4x=79
x =4

85 -15x =40
x=3

43 + -3x =22
x=17

104 + -4x =76
x=7

71+ 1x=75
x =4

61 +-10x=11
x=5

2)

4)

6)

8)

10)

12)

3x +66 =78
x =4

-1x +40=31
x=9

-5x +54 =44
x=2

-lx+15=12
x=3

34-1x=24
x =10

194 +-13x = 64

x=10

OTBeTHL
3 4
2. 4
3 3
4 9
5 7
6 2
7 7
8 3
9 4
10. 10
11. 5
12. 10

E\/IaTeMaTHKa www.CommonCoreSheets.ru

1-10
11-12

75| 67]58[50[42[33[25]17]




JL_

Haxoxxenue nepeMeHHo BeIUYuHbI (+, -, X, + Wms:
Haiigure 3Ha4eHue X. OTBeTHI
4 3 4 7 7
4 9 3 2 10 1.
1) 95-4x=79 2) 3x+66=78 2
3.
4.
5.
3) 85-15x=40 4 _1x+40=31
6.
7.
8.
9.
5) 43 +-3x=22 6) _5x +54=44
10.
7 104 +-4x =176 8 1x+15=12
9 71+1x=175 10) 34-1x=24
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